=14 Bt R
[RAE S48 (BE{fh) OB st
( 2025%F11R #%&9o@ER )

TROBYEREHEREBRMESMOEBLET,
R BB - 2468 MA/m3  [FiA)

WRAHAR :  2025%11A
€HED!
RAMEEEEHARE - 2025%6H ~ 20254E8 1
b Y REHER - 84,980 M/t [Fitk]

(b H=YEHEEEEDRHIRELALNG LPGEIA S EH KU EAEK)
ELAEF R (M) 57,250
LNG(M) LPG(H)

202546 B ~20254F8 B F 13 85,020 80,400

b a Y REHEEDEE

[FtER#L]

ko H=ULNGE ¥R x 0.9479 + F2Hf-ULPGEH{HEE x 0.0546
= 85020 F/tx0.9479 + 80,400 F4/tx0.0546

= 84,980 M/t (1MREZEMEEREA)
[RFMAREBNERDHE :

[FtER#L]

b B YR BHlAE — 22 F R

= 84980 M/t - 57,250 M/t = 27,730 M/t

= 27700 M/t (1005 EEIE)

FHE R EEM(m3nh YRR DERE:

[FtER#)
FREMESZEZENEE - 100 x 0.0891
= 27,700 F/t=100X%0.0891= 2468 M/m3

SHEBIA (0.081%x1.1)
GRBENTSRADBEFIS/NMIAEIMEYVIE T, IA T RADBFIX/NMI A EIELY L)

REHNEHEBmOEE  RRHR

Bt



